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Warm-Up
Show that 3%2 = - (3*)

3x—2 — 3—2 . 3x
3x—2 — 3x—2

1. Look at both sides & similarities
(Don’t change similarities)

2. Simplify harder-looking side (one side only)
3. Sine/Cosine are most comfortable

Proving Trigonometric Identities: Show that the two trigonometric identities are equivalent.

Show that

csc? @ + sec? 0 —tan? 6 — coth = 2

sec?6 —tan? 60 +csc?0 —coth =2

1+1=2
2=2

cot?6 _ 1-sinf

Show that

1+csc®  sin@
csc20-1

14+cscH
(cscO—-1)(cscO+1)

1+4+csc@
cscO —1
1 sin @

sin@ sinf@
1—sin®

sin @

3. Show that

tan @ + cot@ = secO cscl
sin @ cos@

cos @ sin 6
sin? 6+cos? 6

cosfsiné
1

cosfsin@
secOcscO

1

= 2sec?6
—sin @ 1+sin @

5. Show that -

1+sinf+1-sinf

1-sin2 @
2

cos26
2sec? 6




I11.  Practice: Show that the two trigonometric identities are equivalent.

. sin@ cos@
6. secx —cosx =sinxtanx . - = cscH
14+cos @ sin @
1 cos?x sin? 8+cos 8+cos? 0
cosXx cosXx (1+cos @) sinb
sin? x 1+cos 6
cosXx (1+cosB)sinb
. 14+cos @
sin x tan x ———  =csch
(1+cosB)sinb
1 sec?
8. —— +tanp =8 9. sec?x + csc? x = (sec? x)(csc? x)
tan tan
1 tan? g ( 1 1 )
tan tan cos2x  sin?x
1+tan? g (sinz x+cos? x)
tan cos2 x sin? x
sec? ( 1 )
tan g cosZ x sin? x

(o) ()
cosZx/ \sin?x

(sec? x)(csc? x)

. secx—1
10. cos? 8 —sin®? @ = 2cos? 6 — 1 . = secx
1—cosx
1 —
cos? 8 — (1 — cos? 6) ,Losx
1—cosx
1—Ccosx
cos?6 —1 4 cos? 6 —cosx
1—cosx
2co0s260 —1 __l-cosx
(1—cosx)cosx
1
CosXx

Secx



